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#include <stdio.h>
#include <stdlib.h>

int main()
{ ENEESEUER

int num; @&RE>e82E
num=3;

EF R . A printf("%d\n",num);

return 9;
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#include <stdio.h>
#include <stdlib.h>
int main()

{
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num=3;
printf("%d\n",num);
return 9;
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i tH—{ A printf

<\BEIEEEE#include <stdio.h> -

printf("%d", num);
R —EFSBORBRESER
- % :BRFIT - NRprintfZ2BETRHNAS -
d : DAtT#EfMI(decimal) W EREEE
d;tﬁéETE’JEE'EEnum( FREZnum=3) -
. ERARDR—ERNIRZRE -
Blan: &M EEE - printf( “%d %d” , num1, num2);
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#include <stdio.h>
Int main( ){
Int a;
int b;

¥int a,b;

a=11;

n=12;

orintf( “%d \n" ,a);
orintf( “%d\n" ,b);
return O;
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#include <stdio.h>
Int main( ){

int cat;

cat=3;

printf( “There are %d cats.\n" ,cat);

return O;
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FELE] float %f
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#include <stdio.h>

Int main( ){ N
float 2 11.110000
a=11.11; . o O
printf( “%ft" ,a);
return O;
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#include <stdio.h>

Int main( ){

float a;

a=11.11; o O
printf("%.2",a);

return O;
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=8 K/\(byes) B
3

=L 2bytes(16f1  -32768% 327673} %d
TTERH) 5 _2147483648% 2147483647
4bytes
Eag long int Abvtes = _2147483648% 2147483647 5 %ld
8bytes > -9223372036854775808%
y 9223372036854775807
REH long long int Sbvtes -9223372036854775808 & %lld
y 9223372036854775807
BEEFME  float 4bytes 2.939x1038%3.403x10+38 (7 sf) %f
SIERTE2  double 8bytes 5.563x10-309%1.798x10+308 (15 sf)  %lf
FIT char 1bytes R -128E1275(0F 255 %c



